3anacHble yacTu
TexHn4yeckme xapakTepuCcTuUKu

Mo Bonpocam npoaax U noaaepxku odpaLlanTech:

Anmartbl (7273)495-231 KasaHb (843)206-01-48 HoBoky3HeLk (3843)20-46-81 CmoneHck (4812)29-41-54
ApxaHrenbck (8182)63-90-72  KanunuHrpap (4012)72-03-81 HoBocubupck (383)227-86-73 Coum (862)225-72-31
ActpaxaHb (8512)99-46-04 Kanyra (4842)92-23-67 Owmck (3812)21-46-40 CraBpononb (8652)20-65-13
BapHrayn (3852)73-04-60 Kemepogo (3842)65-04-62 Open (4862)44-53-42 CypryT (3462)77-98-35
Benropop (4722)40-23-64 Kupos (8332)68-02-04 OpeHbypr (3532)37-68-04 Teepsb (4822)63-31-35
BpsHck (4832)59-03-52 KpacHogap (861)203-40-90 MMeH3a (8412)22-31-16 Tomck (3822)98-41-53
Bnagueoctok (423)249-28-31  KpacHosipck (391)204-63-61 Mepmb (342)205-81-47 Tyna (4872)74-02-29
Bonrorpag (844)278-03-48 Kypck (4712)77-13-04 PocrtoB-Ha-[loHy (863)308-18-15  TromeHb (3452)66-21-18
Bonoraa (8172)26-41-59 Nuneuk (4742)52-20-81 Ps3aHb (4912)46-61-64 YnbsHoBCK (8422)24-23-59
BopoHex (473)204-51-73 MarHuToropck (3519)55-03-13 Camapa (846)206-03-16 Ydha (347)229-48-12
Exatepun6bypr (343)384-55-89  Mocksa (495)268-04-70 Cankr-MeTepbypr (812)309-46-40  Xabaposck (4212)92-98-04
MBaHoBo (4932)77-34-06 MypmaHck (8152)59-64-93 Capartos (845)249-38-78 YensbuHck (351)202-03-61
WxeBck (3412)26-03-58 HabepexHble YenHbl (8552)20-53-41  Ceactonons (8692)22-31-93 Yepenosel (8202)49-02-64
WpkyTck (395)279-98-46 Hwknuin Hosropog (831)429-08-12 Cumdeponons (3652)67-13-56 fApocnaens (4852)69-52-93

Poccus (495)268-04-70 Kupruans (996)312-96-26-47 KasaxcraH (7172)727-132
bfy@nt-rt.ru || https://bystron.nt-rt.ru/


mailto:bfy@nt-rt.ru
https://bystron.nt-rt.ru/

10860

LUBRICATION HEAD COVER (LUBRICATOR)
SPARE PARTS - MAZNICE

PVC grease cap - M 8.

LUBRICATING BALL HEADS - STRAIGHT THREADED GREASE NIPPLES
SPARE PARTS - MAZNICE

Among the most commonly used types of lubricators is definitely the straight ball
lubricator. The grease gun consists of a sleeve for the grease press in a spherical
shape. This spherical grease nipple is called straight because the grease nipple is
mounted on the head in a straight direction, i.e. in the axis of rotation of the thread
of the grease nipple. The grease nipples are manufactured according to DIN 71412.
Thread: M6x1, M8x1, M10x1, M10x1.5

LUBRICATION HEAD SPHERICAL 90 DEGREES
SPARE PARTS - MAZNICE

Lubrication head spherical 90 degrees.
Thread: M8x1, M10x1

FLAT LUBRICATION HEADS - HEXAGONAL THREADED GREASE NIPPLES
SPARE PARTS - MAZNICE

Flat grease nipples - hexagonal threaded grease nipples.
Thread: M6x1, M8x1, M10x1, M12x1

LUBRICATION HEAD SPHERICAL 45 DEGREES
SPARE PARTS - MAZNICE

This spherical grease gun differs from the straight spherical grease gun only in the
angle of the spherical connector for connecting the grease press. Compared to the
straight grease fitting, the grease nipple is at a 45° angle to the grease fitting axis,
thus providing better accessibility in some hard-to-reach areas.

Thread: M6x1, M8x1, M10x1, M12x1



LUBRICATING CHUCK COUPLING - 4 JAWS

é SPARE PARTS - MAZNICE

Lubricating chuck coupling - 4 jaws. Lubrication connectors are designed to connect
the hose of the lubrication press and the lubricator when refilling the lubricating

55579 grease. Depending on the type of grease nipple, we must select the correct type of
connector. For ball-type lubricators, chuck connectors (sometimes also jaw
connectors) are used.

ANCHORING BOWL FOR RECESSING INTO THE FLOOR
@ SPARE PARTS - ACCESSORIES FOR TROLLEYS

Anchoring bowl for recessing into the floor. The set includes: - 1x - Ring - 1x - Strap -
1x - Bowl. Load capacity: up to 300 daN.
900736

ANCHORING EYE WITH SHACKLE
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Anchor eye with shackle 750 kg, galvanized.

52031

LUBRICATION COUPLING SLIP-ON

? SPARE PARTS - MAZNICE
Grease nipples - connectors for flat grease nipples.

Size: small coupling MOx1 - 10mm, large coupling M10x1- 16mm

PIN
H SPARE PARTS - PINS
]

Galvanised pins
Diameter/length (mm): 14x55, 19x80, 21x155, 22x95, 22x165, 24x85, 25x115, 25x135,
28x105, 30x105, 30x125

ANGLE JOINT WITHOUT COTTER PIN
SPARE PARTS - JOINTS, FORK HEADS

Thread: M6x1, M8x1, M10x1, M14x1



FORKHEAD WITH PIN AND COTTER PIN
SPARE PARTS - JOINTS, FORK HEADS

Thread: M5, M6, M8, M10, M12, M14, M16

ANCHOR BOWL
@ SPARE PARTS - ACCESSORIES FOR TROLLEYS

Anchoring bowl for floor mounting. Suitable for trailers.

900017

FORKHEAD WITHOUT PIN
SPARE PARTS - JOINTS, FORK HEADS

Thread: M8, M10, M12

ANGLE JOINT WITH COTTER PIN
% SPARE PARTS - JOINTS, FORK HEADS

Thread: M6, M8, M10, M12

ANCHORING BOWL FOR RECESSING INTO THE FLOOR

@ SPARE PARTS - ACCESSORIES FOR TROLLEYS

Anchoring bowl for recessing into the floor. Load capacity: up to 1500 daN.

55709

PIN 22X28X190MM
SPARE PARTS - PINS

900344



ANCHORING BOWL FOR RECESSING INTO THE FLOOR
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Anchoring bowl for recessing into the floor. Load capacity: up to 800 daN.

TIP SLEEVE M20/M22, LENGTH 110 MM

% SPARE PARTS - CASES

Tip sleeve M20/M22, length 110 mm.

900314(130239)

TIP SLEEVE M20/M22, LENGTH 145 MM

\ SPARE PARTS - CASES

Tip sleeve M20/M22, length 145 mm.
51620(190232)

PIN WITH BALL
SPARE PARTS - PINS

Diameter/length (mm): 30x80, 30x125

BALL HITCH
SPARE PARTS - PINS

Hinge ball @ 50 mm, 7/8" UNF, length 140 mm.

52440

TRAILER COUPLING 50 MM DIAMETER
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Trailer towing coupling @ 50 mm. Axle load 750 Kg.

5230(350420)



FRONT LOADERTIP
SPARE PARTS - CASES

The tip of the front loader.
Length: 0,8m, 1m, 1,2m

TRAILER TOWING COUPLING 60 X 60 MM
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Trailer coupling 60 x 60 mm. Axle load750 Kg.

4014

TRAILER COUPLING 50 X 50 MM
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Trailer towing coupling 50 x 50 mm. Axle load750 Kg.

51549(350423)

TRAILER COUPLING 60 MM DIAMETER
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Trailer towing coupling @ 60 mm. Axle load750 Kg.

6310(350421)

TRAILER COUPLING 70 MM DIAMETER
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Trailer towing coupling @ 70 mm. Axle load 750 Kg.

5058(350422)

BALL HITCH
SPARE PARTS - PINS

Hinge ball @ 50 mm, M20 x 1.5, length 144 mm




PULLING BALL WITH FLANGE
SPARE PARTS - ACCESSORIES FOR TROLLEYS

Tension ball with flange pitch 90 mm, tensile load 3,000 kg, vertical load 200 kg.

52443(187050)

SPLITTING CONE FOR ENGINE
SPARE PARTS - SPLITTING CONE

-

Cleaving cone with a slotted hole for a pen. Diameter 74mm, length 250mm, length
of cone part 140mm.
900814 Type of opening: D22/6, D24/8, D25/8, D28/8, D30/8, D32/10, D38/10

SPLITTING CONE FOR CIRCULAR MACHINE
SPARE PARTS - SPLITTING CONE

=

Splitting cone with thread for circular shaft.
Diameter 74mm, length 250mm, length of cone part 140mm

SUPPORT WHEEL-SLEEVE
SPARE PARTS - ACCESSORIES FOR TROLLEYS

O &

Support wheel for trailers behind passenger vehicles, pipe @ 48 mm, vertical load
100 kg. Support wheel clamp for @ 48 mm.

55134

SPLITTING CONE FOR TRACTOR
SPARE PARTS - SPLITTING CONE

Splitting cones with six slotted holes. Splitting cones with six slotted hole for tractor.
Diameter 98mm, length 300mm. Other diameters can be produced according to
customer's special requirements.

SPARE PARTS - SPLITTING CONE

A SPLITTING CONE MOTOR_TRACTOR

Splitting cone with interchangeable tip and attachment to engine or tractor.
Diameter 148mm



Mo Bonpocam npoaax U noaaepxku odpallanTech:

Anmartbl (7273)495-231 KasaHb (843)206-01-48 HoBoky3HeLk (3843)20-46-81 CmoneHck (4812)29-41-54
ApxaHrenbck (8182)63-90-72  KanunuHrpap (4012)72-03-81 HoBocubupck (383)227-86-73 Coum (862)225-72-31
ActpaxaHb (8512)99-46-04 Kanyra (4842)92-23-67 Owmck (3812)21-46-40 CraBponosb (8652)20-65-13
BapHayn (3852)73-04-60 Kemepogo (3842)65-04-62 Open (4862)44-53-42 CypryT (3462)77-98-35
Benropop (4722)40-23-64 Kupos (8332)68-02-04 OpeHbypr (3532)37-68-04 Teepsb (4822)63-31-35
BpsHck (4832)59-03-52 KpacHogap (861)203-40-90 MMeH3a (8412)22-31-16 Tomck (3822)98-41-53
Bnagueoctok (423)249-28-31  KpacHosipck (391)204-63-61 Mepmb (342)205-81-47 Tyna (4872)74-02-29
Bonrorpag (844)278-03-48 Kypck (4712)77-13-04 PocrtoB-Ha-[loHy (863)308-18-15  TromeHb (3452)66-21-18
Bonoraa (8172)26-41-59 Nvneuk (4742)52-20-81 Ps3aHb (4912)46-61-64 YnbsHoBCK (8422)24-23-59
BopoHex (473)204-51-73 MarHuToropck (3519)55-03-13 Camapa (846)206-03-16 Ydpa (347)229-48-12
ExatepuH6bypr (343)384-55-89  Mocksa (495)268-04-70 CankT-MeTepbypr (812)309-46-40  Xabaposck (4212)92-98-04
MBaHoBo (4932)77-34-06 MypmaHck (8152)59-64-93 Capartos (845)249-38-78 YensbuHck (351)202-03-61
WxeBck (3412)26-03-58 HabepexHble YenHbl (8552)20-53-41  Ceactonons (8692)22-31-93 Yepenosel (8202)49-02-64
WpkyTck (395)279-98-46 Hwknuin Hosropog (831)429-08-12 Cumdeponons (3652)67-13-56 fApocnaens (4852)69-52-93

Poccus (495)268-04-70 Kupruans (996)312-96-26-47 KasaxcraH (7172)727-132
bfy@nt-rt.ru || https://bystron.nt-rt.ru/


mailto:bfy@nt-rt.ru
https://bystron.nt-rt.ru/

